BEARING SIZE

FAG

Power

Frame Size Poles Dri‘te End Non'D_riVe End
International type International type
56 24 620122 620122
63 24 620122 620122
71 2% 620227 620227
80 28 620427 620427
90 28 620527 620527
100 28 620622 620627
112 28 630622 630627
132 28 630822 630822
60 28 630922C3 630922C3
180 28 6311C3 6311C3
200 28 6312C3 6312C3
225 28 6313C3 6313C3
750 28 6314C3 6314C3
250 2 6314C3 6314C3
48 6317C3 6317C3
o 2 6317C3 6317C3
4~10 NU319C3 6319C3
. 2 6319C3 6319C3
4~10 NU322C3 6322C3
400 4~10 NU326C3 6326C3
MAIN DATA FOR TERMINAL BOX
Classified number Frame size Max.F.Amps Entery hole size
International standard
i H-56-80 26 2xM20x 15
2 F90-100 6.8 2XxM25X 15
3 H112-132 54 IXMB2ZX 15
7 H160-180 25 X MAOX 1.5
5 H200-225 842 2xM50x 1.5
6 H250-280 166.6 2xM63x 1.5
7 H315 358 2xM63x 15
8 H355 546 2xM63x 15
9 H400 600 3x M63 x 1.5

The mounting arrangements of the motors comply with IEC34-7 Recommendation.
There are four basic arrangements shown as the following tables and figures.

Fundamental

B3

ar

Mounting arrangement B3 B6 B7 B8 V5 V6
Diagram l—l
Range of Man.ufacture 56.400 56.160
(framesize)
Fundamental B5 B35
arrangement
Mounting arrangement B5 V1 V3 B35 V15 V36
Diagram % :I-l I
MAnge o heniactes 56-280 56355 56-160 56400 56160
(framesize)
Fundamental B14
arrangement
Mounting arrangement B14 B34 Vi V58 V19 V69
T 1

Diagram

Range of Manufacture
(framesize)

56-132




MIFAG

TECHNICAL DATA OF ALUMINIUM

SERIES

Direct Direct Direct
Frame Full load current at rated Freguencyat| on Ii.ne on line on he . Power Rotor
referel_'lce Rated power voltage constant | starting | pullout | starting | Efficiency e inertia WK
and size power torque torque current
NO ratio ratio ratio
Type . Amps Frequency LBT BDT LRA n P.F. J
KW HP 380V 400V 415V ) SRR 4 Son kgm2
2 POLE/ 3000 rpm
1 F.561-2 0.09 0.12 0.29 027 0.26 50 22 21 52 62.00 077 0.00018
2 F.562-2 0.12 0.18 0.37 0.35 0.33 50 22 21 52 64.00 0.78 0.00023
3 F.63M1-2 0.18 0.25 053 0.50 049 50 23 23 55 65.00 0.80 0.00031
4 F_63M2-2 0.25 0.34 0.69 0.65 063 50 23 23 55 68.00 0.81 0.00060
5 F.71M1-2 0.37 05 1.01 0.96 092 50 22 23 6.1 69.00 0.81 0.00075
6 F.71M2-2 0.55 0.75 1.38 1.30 126 50 23 23 6.1 74.00 0.82 0.00080
7 F_B0M1-2 0.75 1 1.77 167 1.60 50 23 22 6.1 75.00 0.83 0.00120
8 F..80M2-2 1.1 15 261 234 224 50 23 22 69 76.20 0.84 0.00140
9 F..908-2 15 2 346 329 315 50 23 22 70 78.50 084 0.00250
10 |F.90L-2 22 3 485 460 440 50 23 22 70 81.00 0.85 0.00550
11 |F.100L-2 3 4 6.34 6.02 577 50 23 22 75 8260 0.87 0.01080
12 |F.112M2 4 55 8.20 7.80 746 50 23 22 75 84.20 0.88 0.01260
13 |F.13281-2 55 75 11.10 10,50 10.10 50 23 22 75 85.70 0.88 0.03770
14 |F.13282-2 75 10 14.90 14.15 1356 50 23 22 75 87.00 0.88 0.04950
15 |F.160M1-2 11 15 21.30 2020 19.40 50 23 22 75 88.00 0.89 0.05500
16 |F.160M2-2 15 20 28.80 2740 2620 50 23 22 75 89.00 0.89 0.07500
17  |F.160L-2 18.5 25 34.70 3297 3160 50 23 22 75 90.00 0.90 0.12400
4 POLE/ 1500 rpm
18 |F.5614 0.06 0.08 0.23 022 0.21 50 21 20 40 56.00 0.70 0.00030
19 |F.5624 0.09 0.12 0.33 0.31 0.30 50 21 20 40 58.00 072 0.00040
20 |F.63M1-4 0.12 0.18 0.44 042 040 50 22 21 44 57.00 0.72 0.00050
21 |F.63M24 0.18 0.25 0.62 059 0.56 50 22 21 44 60.00 073 0.00060
22 |F.71M1-4 0.25 0.34 0.79 0.75 072 50 22 21 52 65.00 0.74 0.00080
23 |F.71M2-4 0.37 05 1.12 1.10 1.00 50 22 21 52 67.00 0.75 0.00130
24  |F_80M1-4 0.55 0.75 1.52 144 1.38 50 23 24 52 71.00 0.75 0.00180
25 |F.8OM2-4 0.75 1 1.95 1.85 177 50 23 23 6.0 73.00 0.76 0.00210
26 |F.9054 1.1 15 285 270 260 50 23 23 6.0 76.20 077 0.00230
27 |F.90L4 15 2 372 353 3.39 50 23 23 6.0 78.50 0.78 0.00270
28 |F.100L1-4 22 3 509 483 460 50 23 23 70 81.00 0.81 0.00540
29 |F.100L2-4 3 4 6.78 6.40 6.17 50 23 23 70 8260 0.82 0.00670
30 |F.112M4 4 55 8.80 8.36 8.00 50 23 23 70 84.20 082 0.00950
31 |F.13254 55 75 11.70 11.12 1065 50 23 23 70 85.70 0.83 0.02140
32 |F.132M4 75 10 15.60 14.80 1420 50 23 23 70 87.00 0.84 0.29600
33 |F.160M4 11 15 2230 2120 2030 50 23 23 70 88.00 0.85 0.07470
34 |F.160L-4 15 20 30.10 28.60 2740 50 23 23 70 89.00 0.85 0.09180
6 POLE/1000 rpm
35 |F.71MI1-6 0.18 0.25 0.74 0.70 067 50 20 19 40 56.00 0.66 0.00110
36 |F.71M2-6 0.25 0.34 0.95 0.90 0.86 50 20 19 40 59.00 068 0.00140
37 |F.80M1-6 0.37 0.50 1.23 117 1.12 50 20 19 47 62.00 0.70 0.00160
38 |F.80M2-6 0.55 0.75 1.70 1.60 155 50 21 19 47 65.00 0.72 0.00150
39 |F.905-6 0.75 1 229 218 208 50 21 20 53 69.00 072 0.00250
40 |F.90L-6 1.1 15 3.18 3.02 290 50 21 20 55 72.00 073 0.00350
41 |F_100L-6 15 2 400 3.80 3.64 50 21 20 55 76.00 0.76 0.00650
42 |F._112M6 22 3 560 532 5.10 50 21 20 65 79.00 0.76 0.01400
43 |F.13256 3 4 740 7.03 6.73 50 21 21 65 81.00 0.76 0.02860
44 |F.132M1-6 4 55 950 9.03 8.65 50 21 21 65 82.00 0.76 0.03570
45  |F.132M2-6 55 75 12.60 1197 1146 50 21 21 65 84.00 077 0.04450
46 |F_160M-6 75 10 16.90 16.10 1560 50 21 20 65 86.00 0.78 0.08100
47 |F_160L-6 11 15 24.20 2299 2202 50 21 20 65 87.50 0.79 0.01160
8 POLE/ 750 rpm
48 |F_80M1-8 0.18 0.25 0.83 0.79 0.75 50 19 18 33 51.00 061 0.00250
49  |F_80M2-8 0.25 0.34 1.10 1.05 1.00 50 19 18 33 54.00 061 0.00300
50 |F.505-8 0.37 05 149 140 1.36 50 19 18 40 62.00 061 0.00510
51 |F.90L-8 0.55 0.75 217 2.06 2.00 50 20 18 40 63.00 061 0.00650
52 |F.100L1-8 0.75 1 243 230 220 50 20 18 40 70.00 067 0.00950
53 |F.100L2-8 1.1 15 3.36 320 3.06 50 20 18 50 72.00 069 0.01100
54 |F.112M8 15 2 440 422 4.04 50 20 18 50 74.00 0.70 0.02450
55 |F.1325-8 22 3 6.00 570 546 50 20 18 6.0 79.00 0.71 0.03140
56 |F.132M8 3 4 7.80 740 710 50 20 18 6.0 80.00 073 0.03950
57 |F.160M1-8 4 55 10.30 978 9.37 50 20 19 6.0 81.00 073 0.07530
58 |F.160M2-8 55 75 13.60 1290 12.38 50 20 20 65 83.00 0.74 0.09310




MOUNTING AND OVERALL DIMENSIONS

ALUMINIUM SERIES

Power

FAG

IM BS \

o

KK
T .
p N = -~ -1T AC
i 7
Overall dimensions

R Mounting dimensions

LI M| N|P | & T

A |AA | AB| BB HAAC AD B | C | D DH E|F G H K METRIC PG

F..56 90 |23 |1M5| 88 |7 |1MO|100| 71| 36| 9 MiX12 | 20| 3 | 72 | 56 | 58 2M20 X 15 2-PG-135 | 199|100 | 80 | 120 o7 | 3.0
F.63 100 | 24 | 135|100 | 7 | 130|109 80 | 40 | 11 MWX12 | 23| 4 85 | 63| 70 2M20 X 15 2-PG135 | 217|115 | 95 | 140 | o10 | 3.0
F.71 112 26 (150 (110 | 8 | 145|127 | 90 | 45 | 14 | MBX12 | 30 | &5 1" | 71| 70 2M20 X 15 2-PG-135 | 245|130 | 110 | 160 | @12 | 35
F..80 125| 35 | 166|126 | 9 | 175|134 | 100 50 | 19 | MeX16 |40 | 6 | 155 | 80 | 100 M2 X 15 2-PG-16 287 | 165|130 | 200 | 212 | 35
F..905 140 | 37 | 180 | 125 (10| 195| 140|100 56 | 24 | M8X19 | 50 | 8 | 20.0 | 90 | 100 M2 X 15 2-PG-16 35| 165|130 | 200 | 812 | 35
F..90L 140 | 37 | 180 | 150 [ 10| 195|140 | 125 56 | 24 | MaX19 | 50 | 8 | 20.0 | 90 | 100 M2 X 15 2-PG-16 165 | 130 | 200 | @12 | 35
F..100L 160 | 40 | 205|172 | 11| 215|160 | 140 63 | 28 | MIOX22 | 60 | 8 | 24.0 | 100 | 120 2-M32X15 2-PG-21 215|180 | 250 | 15| 4.0
F.112M 190 | 41 | 230 | 181 |12 | 240 | 178 | 140 | 70 | 28 | MI0X22 | 60 | 8 | 240 | 112| 120 2-M32X15 2-PG-21 215|180 | 250 | 15| 4.0
F.1325 216 51 | 270|186 | 15| 275|206 | 140 | 89 | 38 | MI2x28 | 80 | 10 | 330 | 132 120 2-M32X15 2-PG-21 265 | 230 | 300 | &15 | 40
F..132M 216 51 | 270|224 | 15| 275|206 | 178 | 89 | 38 | MI2x28 | 80 | 10 | 330 | 132 120 2-M32X15 2-PG-21 510 | 265 | 230 | 300 | @15 | 4.0
F..160M 254 | 55 | 320|260 | 18| 330 | 255|210 108 | 42 | MI6X36 | 110 12 | 370 | 160 150 2-MAD X 15 2-PG-29 615 | 300 | 250 | 350 | 19 | 5.0
F..160L 254 | 55 | 320|304 | 18| 330 | 255|254 | 108 | 42 | MI6X36 | 110 12 | 370 | 160 150 2-MAD X 1.5 2-PG-29 670 | 300 | 250 | 350 | 19 | 5.0




MOUNTING AND OVERALL DIMENSIONS

FAG ALUMINIUM SERIES

IMB14A \

IMB14B \

=]
KK B14A B14B
Frame size AC AD D DH E F G L
METRIC PG M N P s T M N P s T
FAZ..56 110 | 100 9 MaX12 20 3 72 2-M20 X 1.5 2-PG-13.5 199 | 65 50 80 M5 25 85 70 105 | M6 25
FAZ.63 130 | 109 11 MaX12 23 4 85 2-M20 X 1.5 2-PG-13.5 M7 | 75 60 a0 M5 25 | 100 | 80 120 | M6 25
FAZ.T1 145 | 127 14 MEX12 30 5 11.0 2-M20 X 1.5 2-PG-13.5 245 | 85 70 | 105 | M6 25 | 115 95 140 | M8 30
FAZ..80 175 | 134 19 MEX16 40 6 15.5 2-M25 X 1.5 2-PG-16 297 | 100 | 80 | 120 | M6 3.0 | 130 | 110 | 160 | M8 35
FAZ..90S 195 | 140 | 24 Max19 50 8 20.0 2-M25 X 1.5 2-PG-16 M5 | 115 | 95 | 140 | M8 3.0 | 130 | 110 | 160 | M8 35
FAZ..90L 195 | 140 | 24 Max19 50 8 20.0 2-M25 X 1.5 2-PG-16 M0 | 115 | 95 | 140 | M8 3.0 | 130 | 110 | 160 | M8 35
FAZ..100L 215 | 160 | 28 M10X22 60 8 240 2-M32 X 1.5 2-PG-21 385 | 130 | 110 | 160 | M8 35 | 165 | 130 | 200 | M10 | 35
FAZ.112M 240 | 178 | 28 M10X22 60 8 240 2-M32 X 1.5 2-PG-21 400 | 130 | 110 | 160 | M8 35 | 165 | 130 | 200 | M10 | 35
FAZ.1328 275 | 206 | 38 M12X28 80 10 | 33.0 2-M32 X 1.5 2-PG-21 483 | 165 | 130 | 200 | MM0 | 35 | 215 | 180 | 250 | M12 | 40
FAZ.132M 275 | 206 | 38 M12X28 80 10 | 33.0 2-M32 X 1.5 2-PG-21 510 | 165 | 130 | 200 | M10 | 35 | 215 | 180 | 250 | M12 | 40
FAZ..160M 330 | 255 | 42 M16X36 110 12 | 370 2-M40 X 1.5 2-PG-29 615 | 215 | 180 | 250 | M12 | 40 | 265 | 230 | 300 | Mi6 | 50
FAZ..160L 330 | 255 | 42 M16X36 110 12 | 370 2-M40 X 1.5 2-PG-29 670 | 215 | 180 | 250 | M12 | 40 | 265 | 230 | 300 | Mi6 | 50




TECHNICAL DATA OF CAST IRON
SERIES

MFAG

Frame b Im_ld Direct on Direct on Direct on MEan o
reference and Fullr:::: ‘z‘;e': at . s‘elec:l - Efficiency Pfg‘:tzr line starting |line starting |line pull out I pre:ﬂl:e Weight | R‘?m K3
NO size g power r:::’[:l""fx T torque ratio |current ratio | torque ratio z:enoe;o:j inertia W
Type v Output Spefad EFF. P.F. LRT LRA BDT Noise Weight J
380A 400A 4154 kw rimin Y Cos RLT RLA RLT LwdB(A) kg kgm2
2 POLE/ 3000 rpm
1 F..-80M1-2 1.77 1.74 1.68 0.75 2840 75.0 0.83 22 6.1 23 &7 16 0.00075
2 F..-80M2-2 2.61 248 239 11 2840 76.2 0.84 22 6.9 23 &7 17 0.00090
3 F..-908-2 3.46 3.28 316 15 2850 78.5 0.84 22 7.0 23 72 20 0.00120
4 F..-g0L-2 4.85 461 445 22 2855 81.0 0.85 22 7.0 23 72 23 0.00140
5 F..-100L-2 6.34 6.03 5.81 3 2860 82.6 0.87 22 75 23 76 30 0.00290
6 F.-112M-2 8.20 7.79 751 4 2880 84.2 0.88 22 75 23 77 a1 0.00550
7 F..-13251-2 11.10 | 10.53 | 10.15 55 2900 85.7 0.88 22 75 23 80 57.5 0.01090
8 F..-13252-2 14.90 | 14.10 | 13.60 75 2900 87.0 0.88 22 75 23 80 60.5 0.01260
9 F..-160M1-2 21.20 | 20.20 | 19.50 11 2930 88.4 0.89 22 75 23 86 107 0.03770
10 | F..-160M2-2 28.60 | 27.20 | 26.20 15 2930 89.4 0.89 22 75 23 86 114 0.04990
11 | F.-160L-2 3470 | 33.00 | 31.80 18.5 2930 90.0 0.90 22 75 23 86 133 0.05500
12 | F..-180M-2 41.00 | 39.00 | 37.60 22 2940 90.5 0.90 20 75 23 89 165 0.07500
13 | F..-200L1-2 5540 | 52.60 | 50.70 30 2950 91.4 0.90 20 75 23 92 218 0.12400
14 | F..-200L2-2 67.90 | 64.50 | 62.20 krg 2950 92.0 0.90 20 75 23 92 230 0.13900
15 | F..-225M-2 8210 | 78.00 | 75.20 45 2960 925 0.90 20 75 23 92 290 0.23300
16 | F..-250M-2 100.00 | 94.80 | 91.40 55 2970 93.0 0.90 20 75 23 a3 350 0.31200
17 | F..-2808-2 135.00 | 129.00 | 124.00 75 2975 93.6 0.90 20 7.0 23 94 475 0.57900
18 | F..-280M-2 160.00 | 152.00 | 147.00 a0 2975 93.9 0.91 20 71 23 94 510 0.67500
19 | F.-3158-2 195.00 | 186.00 | 179.00 | 110 2975 94.0 0.91 1.8 71 22 96 875 1.18000
20 | F.-315M-2 233.00 | 222.00 | 214.00 | 132 2975 94.5 0.91 1.8 71 22 96 963 1.82000
21 | F.-315L1-2 279.00 | 265.00 | 256.00 | 160 2975 94.6 0.92 1.8 71 22 a9 1010 2.08000
22 | F.-315L2-2 348.00 | 331.00 | 318.00 | 200 2975 94.8 0.92 1.8 71 22 a9 1138 2.38000
23 | F.-355M-2 433.00 | 412.00 | 397.00 | 250 2980 95.2 0.92 1.6 71 22 103 1900 3.00000
24 | F.-355L-2 545.00 | 518.00 | 498.00 | 315 2980 95.4 0.92 1.6 71 22 103 2300 3.50000
4 POLE/ 1500 rpm

1 F..-80M1-4 1.57 1.49 1.44 0.55 1390 71 0.75 24 52 23 58 15 0.00180
2 F..-80M2-4 2.05 1.95 1.88 0.75 1380 73 0.76 23 6.0 23 58 15.5 0.00210
3 F..-9054 2.85 27 261 11 1390 76.2 0.77 23 6.0 23 61 19 0.00230
4 F..-90L4 372 3.54 s 15 1400 78.5 0.78 23 6.0 23 61 23 0.00270
5 F..-100L1-4 5.09 4.90 472 22 1410 80 0.81 23 7.0 23 64 29 0.00540
6 F..-100L2-4 6.78 6.39 6.16 3 1410 82.6 0.82 23 7.0 23 64 M 0.00670
7 F.-112M-4 8.80 8.36 8.06 4 1435 84.2 0.82 23 7.0 23 65 42 0.00950
8 F.-132514 11.70 | 11.20 | 10.80 55 1440 85.7 0.83 23 7.0 23 7 63.5 0.02140
9 F.-132M-4 15.60 | 14.80 | 14.30 75 1450 87 0.84 23 7.0 23 7 72 0.02960
10 | F..-160M-4 2250 | 21.40 | 20.60 11 1460 88.4 0.84 22 7.0 23 75 110 0.07470
11 | F..-160L4. 30.00 | 28.50 | 27.50 15 1460 89.4 0.85 22 75 23 75 129 0.09180
12 | F..-180M+4 36.30 | 3450 | 33.30 18.5 1470 a0 0.86 22 75 23 76 160 0.13900
13 | F..-180L4 43.20 | 40.80 | 39.30 22 1470 90.5 0.86 22 75 23 76 178 0.15800
14 | F..-200L4 57.60 | 55.10 | 53.10 30 1470 91.4 0.86 22 7.2 23 79 228 0.26200
15 | F..-22554 70.20 | 66.70 | 64.30 7 1475 92 0.87 22 7.2 23 81 288 0.40600
16 | F..-225M4 84.90 | 80.70 | 77.80 45 1475 925 0.87 22 7.2 23 81 33 0.46900
17 | F..-250M-4 103.00 | 98.10 | 94.60 55 1480 a3 0.87 22 7.2 23 83 376 0.66000
18 | F..-28054 138.30 | 131.00 | 127.00 75 1480 93.6 0.88 22 6.8 23 86 508 1.12000
19 | F..-280M+4 165.00 | 157.00 | 152.00 a0 1480 93.9 0.88 22 6.8 23 86 581 1.64000
20 | F.-31554 201.00 | 191.00 | 184.00 | 110 1480 94.5 0.88 21 6.9 22 a3 846 3.10000
21 | F.-315M-4 240.00 | 228.00 | 220.00 | 132 1480 94.8 0.88 21 6.9 22 a3 940 3.62000
22 | F.-315L14 288.00 | 273.00 | 264.00 | 160 1480 94.9 0.89 21 6.9 22 a7 1044 4.13000
23 | F.-315L24 360.00 | 342.00 | 329.00 | 200 1480 94.9 0.89 21 6.9 22 a7 1162 4.73000
24 | F.-355M-4 443.00 | 421.00 | 406.00 | 250 1490 95.2 0.90 21 6.9 22 101 1700 6.50000
25 | F..-355L4 559.00 | 531.00 | 511.00 | 315 1490 95.2 0.90 21 6.9 22 101 1900 8.20000




FAG

TECHNICAL DATA OF CAST IRON

SERIES

Frame Full load Direct on &rﬁ::.teon Direct on | Mean sound
reference Full load current at | Rated | sreed in Efficiency Power line starting line pull pressure Weight Rotor
a_nd rated voltage power ne\mlu_lions factor | starting | cient out tm_'que level @1m inertia WK?
NO size per minute torque ratio ratio ratio on no load
Type v Output Spe?d EFF. P.F. LRT LRA BDT Noise Weight J
380A 400A 415A kW rimin % Cos@ RLT RLA RLT LwdB(A) kg kgm2
6 POLE [ 1000 rpm
1 |F..-80M1-6 130 | 123 | 119 | 037 880 62 0.70 19 47 20 5 15 0.00160
2 |F..-B0M2-6 180 | 170 | 164 | 055 880 65 0.72 19 47 21 S 16 0.00190
3 |F.-905-6 229 | 218 | 210 | 075 905 69 0.72 20 53 2.1 57 20 0.00290
4 |F.-90L-6 318 | 302 | 291 1.1 905 72 0.73 20 5.5 2.1 57 23 0.00350
5 |F..-100L1-6 400 | 380 | 366 15 920 76 0.75 20 55 2.1 61 29 0.00690
6 |F.-112M-6 560 | 529 | 510 22 935 79 0.76 20 6.5 2.1 65 41 0.01400
7 |F.-13256 740 | 703 | 678 3 960 81 0.76 21 6.5 2.1 69 59 0.02860
8 |F.-132M16 975 | 926 | 893 4 960 82 0.76 21 6.5 2.1 69 66 0.03570
9 |F.-132M26 1290 | 1230 | 1180 | 55 960 84 077 21 6.5 2.1 69 76.5 0.04490
10 |F..-160M-6 17.20 | 1630 | 1580 | 75 970 86 077 20 6.5 2.1 73 106 0.08100
11 |F..-160L-6 2450 | 2330 | 2240 11 970 87.5 0.78 20 6.5 21 73 122 0.11600
12 |F..-180L-6 31.60 | 30,00 | 2890 15 970 89 0.81 20 7.0 2.1 73 167 0.20700
13 |F..-200L1-6 3860 | 3660 | 3530 | 185 980 90 0.81 21 7.0 2.1 76 236 0.31500
14 |F..-200L2-6 4470 | 4250 | /100 | 22 980 90 0.83 20 7.0 2.1 76 247 0.36000
15 |F..-225M-6 5930 | 5630 | 5430 | 30 980 91.5 0.84 20 7.0 2.1 76 287 0.54700
16 |F..-250M-6 71.00 | 6750 | 6510 | 37 980 92 0.86 21 7.0 2.1 78 385 0.84300
17 |F..-2805-6 86.00 | 8170 | 7870 | 45 980 925 0.86 21 7.0 20 80 444 1.39000
18 |F..-280M-6 104.00 | 9950 | 9590 | 55 980 928 0.86 21 7.0 20 80 498 1.65000
19 |F..-3155-6 142.00 | 135.00 | 13000 75 985 93.5 0.86 20 6.7 20 85 859 4.11000
20 |F..-315M-6 169.00 | 161.00 | 155.00 | 90 985 93.8 0.86 20 6.7 20 85 950 4.78000
21 |F..-315L1-6 207.00 | 196.00 | 189.00 | 110 985 94 0.86 20 6.7 20 85 1031 5.45000
22 |F..-315L26 24500 | 232.00 | 224.00 | 132 985 94.2 0.87 20 6.7 20 85 1107 6.12000
23 |F..-355M16 292.00 | 278.00 | 268.00| 160 990 94.5 0.88 19 6.7 20 92 1550 9.50000
24 |F..-355M2-6 365.00 | 347.00 | 335.00 | 200 990 94.5 0.88 19 6.7 20 92 1600 10.40000
25 |F..-355L6 457.00 | 434.00 | 418.00 | 250 990 94.5 0.88 19 6.7 20 92 1700 12.40000
8 POLE [ 750 rpm
1 |F..-80M1-8 083 | 084 | 080 | 018 645 51 0.61 18 33 19 52 15 0.00250
2 |F..-B0M2-8 110 | 110 | 1.06 | 025 645 54 0.61 1.8 33 1.9 52 16 0.00300
3 |F..-905-8 149 | 1.4 136 | 037 675 62 0.61 1.8 4.0 19 56 20 0.00510
4 |F.-90L-8 217 | 207 | 199 | 055 680 63 0.61 1.8 4.0 20 56 23 0.00650
5 |F..-100L1-8 243 | 23 | 222 | 075 680 70 0.67 1.8 4.0 20 59 29 0.00900
6 |F..-100L2-8 336 | 320 | 308 1.1 680 72 0.69 18 50 20 59 k]l 0.01100
7 |F.-112M-8 440 | 418 | 403 1.5 690 74 0.70 1.8 5.0 20 61 41 0.02450
8 |F.-13258 600 | 566 | 546 22 710 79 0.71 18 6.0 20 64 61 0.03140
9 |F.-132M-8 780 | 741 | 715 3 710 80 0.73 1.8 6.0 20 64 74 0.03950
10 |F..-160M1-8 1030 | 976 | 9.4 4 720 81 0.73 19 6.0 20 68 95.5 0.07530
11 |F..-160M2-8 1360 | 1290 | 1250 | 55 720 83 0.74 19 6.0 20 68 107 0.09310
12 |F..-160L-8 17.80 | 1690 | 1630 | 75 720 85.5 0.75 19 6.0 20 68 128 0.12600
13 |F..-180L-8 2550 | 2420 | 23.30 11 730 87.5 0.75 20 6.5 20 70 169 0.20300
14 |F..-200L-8 3410 | 3240 | 31.20 15 730 88 0.76 20 6.6 20 73 236 0.33900
15 |F..-2255-8 4110 | 39.00 | 3760 | 185 730 90 0.76 19 6.6 20 73 274 0.49100
16 |F..-225M-8 48.90 | 4500 | 4340 | 22 730 90.5 0.78 19 6.6 20 73 290 0.54700
17 |F..-250M-8 63.00 | 60.20 | 5810 | 30 735 il 0.79 19 6.5 20 75 370 0.83400
18 |F..-2805-8 78.00 | 7390 | 71.20 | 37 740 91.5 0.79 19 6.6 20 76 488 1.65000
19 |F..-2680M-8 9400 | 8940 | 8610 | 45 740 92 0.79 19 6.6 20 76 563 1.93000
20 |F..-3155-8 111.00 | 106.00 | 102.00 | 55 735 92.8 0.81 1.8 6.6 20 82 852 4.79000
21 |F..-315M-8 150.00 | 143.00 | 138.00| 75 735 93.5 0.81 1.8 6.2 20 82 933 5.58000
22 |F..-315L1-8 178.00 | 169.00 | 163.00| 90 735 93.8 0.82 18 6.4 20 82 1027 6.37000
23 |F..-315L2-8 217.00 | 206.00 | 199.00 | 110 735 94 0.82 1.8 6.4 20 82 1117 7.23000
24 |F..-355M1-8 261.00 | 248.00 | 239.00 | 132 740 93.7 0.82 18 6.4 20 90 2000 7.90000
25 |F..-355M2-8 315.00 | 299.00 | 288.00 | 160 740 94.2 0.82 1.8 6.4 20 90 2150 10.30000
26 |F..-355L-8 387.00 | 368.00 | 355.00 | 200 740 94.5 0.83 18 6.4 20 90 2250 12.30000
10 POLE / 600 rpm
1 |F..-3155-10 100.00 | 95.00 | 91.00 | 45 590 91.5 0.75 15 6.2 20 82 818 4.79000
2 |F..-315M-10 121.00 | 115.00 | 111.00| 55 590 92 0.75 15 6.2 20 82 903 5.58000
3 |F.-315L1-10 | 162.00 | 154.00 | 148.00| 75 590 925 0.76 15 5.8 20 82 1007 6.37000
4 |F.-31502-10 | 191.00 | 181.00 | 175.00| 90 590 93 077 15 59 20 82 1100 7.23000
5 |F..-365M1-10 | 230.00 | 218.00 | 211.00 | 110 590 93.2 0.78 1.3 6.0 20 90 1800 7.90000
6 |F..-365M2-10 | 275.00 | 261.00 | 252.00 | 132 590 93.5 0.78 1.3 6.0 20 90 2000 10.30000
7 |F..355L-10 334.00 | 317.00 | 305.00 | 160 590 93.5 0.78 1.3 6.0 20 90 2500 12.30000




MOUNTING DATA FOR
CAST IRON SERIES

Power

= ------1 AC = L1 ac = -1 AC
Lelc ] B | Lelc | B | E|C B
H80-90 H100-132 H160-355
| HD | HD
{e1 1 {eh
H H H H
| |
|A2_1 K |A2_1 K
A~ A
AB AB
H63-71 H80-355

FRAME WITH FEET AND END-SHIELD WITHOUT FLANGE (IM B3)

FRAME

SIZE POLES A A2 B [o4 D E F G H K AB AC AD HD L DH*
F..63M 24 100 50 80 40 11 23 4 8.5 63 7 135 | 130 | 115 | 180 | 230 M4Xx12
F.71M 246 112 56 90 45 14 30 5 11 71 7 150 | 145 | 127 | 195 | 255 MaX12
F..80M 2468 125 | 62.5 | 100 50 19 40 6 15.5 80 10 165 | 175 | 145 | 220 | 285 MBX16
F..90S 2468 140 70 100 56 24 50 8 20 90 10 180 | 195 | 155 | 250 | 320 MBX19
F..90L 2468 140 70 125 56 24 50 8 20 90 10 180 | 195 | 155 | 250 | 345 MBX19
F..100L 2468 160 80 140 63 28 60 8 24 100 12 205 | 215 | 180 | 270 | 385 M10X22

F.112M 2468 190 95 140 70 28 60 24 112 12 230 | 240 | 150 | 300 | 400 M10X22
F..1328 2468 216 108 140 89 38 80 10 33 132 12 270 | 275 | 210 | 345 | 470 M12X28
F..132M 2468 216 108 178 89 38 80 10 33 132 12 270 | 275 | 210 | 345 | 510 M12X28
F..160M 2468 254 127 | 210 108 42 110 12 37 160 15 320 | 330 | 255 | 420 | 615 M16X36
F..160L 2468 254 127 | 254 108 42 110 12 37 160 15 320 | 330 | 255 | 420 | 660 M16X36
F..180M 2468 279 | 139.5| 241 121 48 110 14 425 | 180 15 355 | 380 | 280 | 455 | 700 M16X36
F..180L 2468 279 | 139.5| 279 121 48 110 14 425 | 180 15 355 | 380 | 280 | 455 | 740 M16X36
F..200L 2468 318 159 | 305 133 55 110 16 49 200 19 395 | 420 | 305 | 505 | 770 M20x42
F..2258 48 356 178 | 286 149 60 140 18 53 225 19 435 | 470 | 335 | 560 | 815 M20x42

[=-]

A — 2 356 178 | 311 149 55 110 16 49 225 19 435 | 470 | 335 | 560 | 820 M20x42
468 356 178 | 311 149 60 140 18 53 225 19 435 | 470 | 335 | 560 | 845 M20Xx42

e 2 406 | 203 | 349 168 60 140 18 53 250 24 490 | 510 | 370 | 615 | 920 M20x42
468 406 | 203 | 349 168 65 140 18 58 250 24 490 | 510 | 370 | 615 | 920 M20x42

— 2 457 | 228.5| 368 190 65 140 18 58 280 24 550 | 580 | 410 | 680 | 995 M20x42
468 457 | 228.5| 368 190 75 140 20 67.5 | 280 24 550 | 580 | 410 | 680 | 995 M20Xx42

o it 2 457 | 2285 | 419 190 65 140 18 58 280 24 550 | 580 | 410 | 680 | 1045 M20Xx42
468 457 | 2285 | 419 190 75 140 20 67.5 | 280 24 550 | 580 | 410 | 680 | 1045 M20x42

2 508 | 254 | 406 | 216 65 140 18 58 315 28 635 | 645 | 530 | 845 | 1185 M20x42

=188 46810 | 508 | 254 | 406 | 216 80 170 22 71 315 28 635 | 645 | 530 | 845 | 1220 M20x42
Eiadein 2 508 | 254 | 457 | 216 65 140 18 58 315 28 635 | 645 | 530 | 845 | 1290 M20Xx42
46810 | 508 | 254 | 457 | 216 80 170 22 71 315 28 635 | 645 | 530 | 845 | 1325 M20x42

3150 2 508 | 254 | 508 | 216 65 140 18 58 315 28 635 | 645 | 530 | 845 | 1290 M20x42
46810 | 508 | 254 | 508 | 216 80 170 22 71 315 28 635 | 645 | 530 | 845 | 1325 M20x42

2 610 | 305 | 560 | 254 75 140 20 67.5 | 355 28 730 | 710 | 655 | 1010 | 1500 M20Xx42

F-395M 46810 | 610 | 305 | 560 | 254 95 170 25 86 355 28 730 | 710 | 655 | 1010 | 1530 M20Xx42
e 2 610 | 305 | 630 | 254 75 140 20 67.5 | 355 28 730 | 710 | 655 | 1010 | 1500 M20x42

46810 | 610 | 305 | 630 | 254 95 170 25 86 355 28 730 | 710 | 655 | 1010 | 1530 M20x42




Power

MOUNTING DATA FOR
CAST IRON SERIES

H100-200

H200-280

FRAME WITHOUT FEET AND END-SHIELD WITH FLANGE (IM B5)

FgrzléE POLES D E F G M N P s T FHL::IEGSE AC AD HF L DH*
63M 24 11 23 4 8.9 115 95 140 10 3 4 130 115 130 230 M4 x 12
71M 246 14 30 5 11 130 110 160 10 3.5 4 145 127 145 255 M5 x12
80M 2468 19 40 6 15.5 | 165 130 | 200 12 3.5 4 175 145 185 295 M6 x 16
90s 2468 24 50 8 20 165 130 | 200 12 3.5 4 195 155 195 320 M8 x 19
9oL 2468 24 50 8 20 165 130 | 200 12 3.5 4 195 155 195 345 M8 x 19
100L 2468 28 60 8 24 215 180 | 250 15 4 4 215 180 245 385 M10 x 22
112M 2468 28 60 8 24 215 180 | 250 15 4 4 240 190 265 400 M10 x 22
1328 2468 38 80 10 33 265 | 230 | 300 15 4 4 275 | 210 315 470 M12 x 28
132M 2468 38 80 10 33 265 | 230 | 300 15 4 4 275 | 210 315 510 M12 x 28
160M 2468 42 110 12 37 300 | 250 | 350 19 5 4 330 | 295 385 615 M16 x 36
160L 2468 42 110 12 37 300 | 250 | 350 19 5 4 330 | 2585 385 660 M16 x 36
180M 2468 48 110 14 425 | 300 | 250 | 350 19 5 4 380 | 280 | 430 700 M16 x 36
180L 2468 48 110 14 425 | 300 | 250 | 350 19 5 4 380 | 280 | 430 740 M16 x 36
200L 2468 55 110 16 49 350 | 300 | 400 19 5 8 420 305 | 480 770 M20 x 42
2258 48 60 140 18 53 400 | 350 | 450 19 5 8 470 335 535 815 M20 x 42
295M 2 55 110 16 49 400 | 350 | 450 19 5 8 470 335 535 820 M20 x 42

468 60 140 18 53 400 | 350 | 450 19 5 8 470 335 535 845 M20 x 42
250M 2 60 140 18 53 500 | 450 | 550 19 5 8 510 370 595 920 M20 x 42
468 65 140 18 58 500 | 450 | 550 19 5 8 510 370 595 920 M20 x 42
— 2 65 140 18 58 500 | 450 | 550 19 5 8 580 | 410 650 995 M20 x 42
468 75 140 20 67.5 | 500 | 450 | 550 19 5 8 580 | 410 650 995 M20 x 42
e 2 65 140 18 58 500 | 450 | 550 19 5 8 580 | 410 650 1045 M20 x 42
468 75 140 20 67.5 | 500 | 450 | 550 19 5 8 580 | 410 650 1045 M20 x 42
3158 2 65 140 18 600 | 550 | 660 24 6 8 645 530 900 1280 -
46810 80 170 22 600 | 550 | 660 24 6 8 645 530 900 1510 -
315M 2 65 140 18 600 | 550 | 660 24 6 8 645 530 900 1310 -
46810 80 170 22 600 | 550 | 660 24 6 8 645 530 900 1430 -
315L 2 65 140 18 600 | 550 | 660 24 6 8 645 530 900 1310 -
46810 80 170 22 600 | 550 | 660 24 6 8 645 530 900 1430 -
355M 2 75 140 20 740 | 680 | 800 24 6 8 710 655 | 1010 | 1640 -
46810 95 170 25 740 | 680 | 800 24 6 8 710 655 | 1010 | 1670 -
355L 2 75 140 20 740 | 680 | 800 24 6 8 710 655 | 1010 | 1640 -
46810 95 170 25 740 | 680 | 800 24 6 8 710 655 | 1010 | 1670 -




TECHNICAL DATA
OF H400-450 SERIES

Power

FAG

e ol Al oueton | S | s
r::a;t;r_:: Rated power rated re \mi.rsions Efficiency | Power factor I::t:q a:'t: rr::g curn.a nt out tor.que | ;)::Is; L:t:n Voltage
voltage | per minute ratio ratio i e load
NO. Type Output Amps Spe&_ad EFF. P.F. LRT LRA BDT Noise v
kW A rimin Y% Cos @ RLT RLA RLT LwdB(A)
1 400L1-2 450 770 2980 96.3 0.92 15 6.5 22 108
2 40012-2 500 844 2980 963 092 15 65 22 108 380
3 400L3-2 560 952 2980 96.3 0.92 15 6.5 22 109
4 450L1-2 560 552 2985 973 0.92 1 7 28 109
5 450L2-2 630 616 2980 96.3 0.92 1 7 28 109 660
6 450L3-2 710 693 2985 96.5 0.92 1 7 28 109
7 450L4-2 800 774 2985 966 0.92 1 7 28 109
8 400L1-4 450 792 1490 96.3 0.89 1.7 6.8 22 105
9 400L2-4 500 878 1490 96.3 0.89 1.7 6.8 22 105 380
10 400L3-4 560 978 1490 96.3 0.89 1.7 6.8 22 108
11 400L4-4 630 633 1490 96.3 0.89 1.7 6.8 22 108
12 450L1-4 630 639 1490 96.5 0.89 16 7 26 108
13 450L2-4 710 718 1490 96.5 0.89 16 7 26 108 660
14 450034 800 806 1490 96.7 0.89 16 7 26 108
15 450L4-4 900 905 1490 96.7 0.89 16 7 26 108
16 400L1-6 356 649 990 96 0.86 2 6.5 22 98
17 400L2-6 400 729 990 96 0.86 2 6.5 22 98
18 400L3-6 450 817 990 96 0.86 2 6.5 22 102 0
19 400L4-6 500 906 990 96 0.86 2 6.5 22 102
20 450L1-6 500 534 990 96.2 0.86 16 7 26 102
21 450L2-6 560 596 990 96.3 0.85 16 7 26 105
22 450L3-6 630 670 990 96.5 0.85 16 7 26 105 =
23 450L4-6 710 751 990 96.5 0.85 16 7 26 105
24 400L1-8 315 596 740 96 0.82 21 6.1 24 95
25 400L2-8 356 676 740 96 0.82 21 6.1 24 95 380
26 400L3-8 400 757 740 96 0.82 21 6.1 24 99
27 450L1-8 400 445 740 96 0.89 16 7 26 99
28 450L2-8 450 499 740 96 0.82 16 7 26 99
29 450L3-8 500 553 740 96.2 0.82 16 7 26 99 0
30 450L4-8 560 621 740 96.2 0.82 16 7 26 102
Kl 400L1-10 250 512 590 952 077 21 6.5 24 99
32 400L2-10 315 639 590 96 077 21 6.5 24 99
33 400L3-10 356 718 590 96 0.77 21 6.5 24 99 660
34 450L1-10 356 732 590 956 077 16 7 26 99
35 450L2-10 400 822 590 956 077 16 7 26 99
36 450L3-10 450 927 590 956 077 16 7 26 99




MOUNTING AND

FAG OVERALL DIMENSIONS

IM B3 H400-450 \
MOUNTING AND OVERALL DIMENSIONS OF IM B3 H400-450

>

!
5]
L

0
10
_|
o n
T

- ~ i
E
HD
AC ke T
HA
H
Cp 0 G e l° A1 DH K LI
c Il s S I
BB _I AB
L
e Mounting Dimensions Overall Dimensions
Poles | A |AA AB AC | B1 BB | C D DH E F G | GD H HA|HD | K L | AD Eyeboit X Y | Z
400M 2 @85 170 | 22 | 76 | 14 1885
——————— 686 | 125 810 | 855 | 710 | 1090 335 M24 x 50 T 400 | 30 (1080 @35 430 | 236 430|540 (225
400L (46810 @120 210 | 32 109 | 16 1925
450M 2 @85 170 | 22 | 76 | 14 2050
———————— 710 | 150 | 860 | 855 | 710 | 1090 335 M24 x 50 i T 450 | 80 |1130| @35 430 | 236 430|540 (225
430L |468 10| | | @120 1210 | 32 | 109 | 16 | 2200 |
X Z -
908 ( 2
] Ly
| - ] A\
! = 8
N —_——— 9 HD
7] 1] = ¥ [
1_ 0,
E HA H
o e e s N, % |
1 11 0T ! |~
r pa ] Lkl
1 A Tt
T __|J|-¢ B1 AR
BB
L
o Mounting Dimensions Overall Dimensions
Poles | A |AAAB AC B1|BB  C D E H | HA | HD DH K L M | N P s T Eyehoid X Y| Z
400M 2 @85 | 170 1885
I 686 | 125|810 | 855 7101090 335 T 1400 | 30 |1080 | M24x50 (@35 1940 | 880 1000 8x28| 6 |2xM36 |430 540|225
400L |46 810 @120 210 1925
450M 2 | @85 | 170 1885
I 710 150 | 860 | 855 710 1090 335 T 1450 | 80 | 1130 M24x50 (@35 1940 | 880 1000 8x28| 6 |2xM36 |430 540|225
450L (46810 @120 210 1925

10



MOUNTING AND

OVERALL DIMENSIONS FAG

IM V1 H400-450 \
MOUNTING AND OVERALL DIMENSIONSOF IM V1 H400-450

\%\'\\_ N
\\‘%‘.

L

| feee] 4
2
N
N

L
N
P
T Mounting Dimensions Overall Dimensions
b Poles | AC D E F G GD H | HD DH L LM | M| N P s T |Eyeboit | X | ¥ | Z
400M 2 @85 170 22 76 14 1885 | 1985
855 400 | 1180 | M24x50 940|880 | 1000 8x@28| 6 | 4xM36 | 430|540 | 225
400L (46810 @120 210 32 109 16 1925 | 2025
450M 2 @85 170 22 76 14 1885 | 1985
855 450 | 1180 | M24x50 940|880 | 1000 8x@28| 6 | 4xM36 |430|485|225
450L (46810 @120 210 32 109 18 1925 | 2025

Power links to the world

_ b MIFAG

1"




